Set Id : 31558 3 9-12-2016 — Batch2 — Group6 For: Rajya Sabha Secretariat, Parliament of India

Section 1 - Part A

o No. of Questions: 2C

1) Which of the following options provide the CORRECT sequence of the values as mentioned in the Preamble of the Indian
Constitution? / 7% & & %17 AT Reeq STy afFems 7 swaremr § Ieetiad geat & Tl #7 T S971aT 672

A)  Republic, Democratic, Socialist, Secular, Sovereign / =, A= %, TATSETET, GHATIE, THHTH
B) Sovereign, Democratic, Socialist, Secular, Republic / T, ATFATE, THTSTITT, TH AT, T
C) Secular, Democratic, Socialist, Republic, Sovereign / a9 HTae, FEaif=rs, THTSEATAT, TUIE=, THETH

D) Sovereign, Socialist, Secular, Democratic, Republic / TSET®, THTSTATAT, GH FTTE, ST, T

2) In July 2016, Yahoo sold its core internet business to / S[ETE 2016 ¥ FTg 7 TAT T Sede ATIIL (ot o= =a1?
A) Verizon / aft=e
B) Microsoft / ATEsTa ¢

C) Google / ETer
D) Facebook / g

3) Which colour of white light travels fastest in glass? / €=t SETST FT HIF 8T T HIT H T A1 & 0T FAT §2
A) Green /g0

B) Blue / 7t=T

C) Red / a1t

D) Violet / ST

4) Bharatiya Mahila Bank (BMBL) is recently merged with which of the following banks? / sTeer m%m?ruﬁ (BMBL) mm ar
# o & 7 e g1 w82 ‘ : :
A) HDFC

B) ICICI

C) IDBI

D) SBI
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5) In October 2016, Prime Minister, Shri Narendra Modi laid the foundation stone of Urja Ganga project, PNG Pipeline, in
which of the following places? / siFzaT 2016 ¥, Teman=t, «ff Tirz wrar F AwferfaT =1 & & wgl o1 v 7hF=mT, PNG ey

A) Bhopal / ST

B) Gurgaon / =

C) Vadodara / =TT

D) Varanasi / FTETorHT

6) Which of the following neighbouring countries of India is located to the North of India? / /T T 9 AT TS S97 9T &
I H T g7

A) China / 7

B) Sri Lanka / #fi=T

C) Bangladesh / araer

D) Myanmar / ®ITHT?

7) Where is the 2018 Winter Olympics scheduled to be held? / 2018 sfiaaTei= st gl Argiisra =T ST 9% 872
A) Pyeongchang, South Korea / Tiw=iT, ZferT wiiaT

B) Beijing, China / difT, i

C) Tokyo, Japan | T, ST

D) Sochi, Russia / #1=T, &1

8) Which of the following mirrors is used as a shaving glass? / fRsrferfera # & fy F¥or &1 TR 9T e & =7 § Gy 5T 32

A) Concave mirror / ST aqo

B) Convex mirror / 39 2907

)
C) Plano-concave mirror / W 1-s&ae a99r
)

D) Plane mirror / FHT 2907
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9) The famous Madhubani paintings can be related to which of the following states? / wRrE measT et Refofaa asar o
¥ frmd g<fle g1 gar 272

A) West Bengal / Tf%% s:Ter
B) Madhya Pradesh / W&z T=41
C) Bihar / fagX

D) Chhattisgarh / xframz

10) Gustav Robert Kirchoff, the German physiciét has contributed to the research work of which of the following subjects? /

ST stfererTelt, T e et ¥ e G ¥ e w1 g G 82

A) Black body radiation / s 45T & Ters fafso :

B) Creation of the elements and cosmology / @i #iiT srg[oe fa=m 7 foraor
C) Discoverer of cobalt / FraTez &1 sfASHE ; ; '

D) Founded electromagnetic theory / ’fﬁ‘q—crﬁgﬁiﬁ’m‘ frgTa 1 weroT F

events?/ﬁ%ﬁﬁ%ﬂ@ﬁwi\:mWwﬁﬁﬁﬁ%mmﬁmmﬁmﬁmww ‘

A) Asian Games / TfITE @

B) Commonwealth Games / TEHET &

C) Rio Olympics / T aieifiss

D) London Olympics / @& freifis

12) Which of the following is the world’s largest radio telescope built by China? / f% & & #i ft ws i+ grar farfife e 7
e ST AT g 82 '

A) Tianyan / f=aa+

B) Xinxuan / f&esgemT

C) Beidou / 2513
D) Baixiang / @i
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13) Which of the following was constructed by Shah Jahan? / e & & et Rwafor eresret g7 e w7 o912

A) Badshahi Mosque / aTzermer #fEsg
B) Pearl Mosque / 7T wfesg

C) Qutub Minar / & H=TT

D) Bibi Ka Magbara / #T=T =T FerT

14) Who among the following has won the Women's Single BNP Paribas Open Title 201672 / f%r # 3 R g=7 fifwrer BNP
T aT ST ZTEed 2016 Sfar 2

A) Martina Hingis / #Tfear fEfier

B) Coco Vandeweghe / F&T =49

C) Victoria Azarenka / == a=mv=r
D) Serena Williams / &7 fAferges

15) Which of the following is a principal tributary of river Brahmaputra? / s # & e #ff weh srgrgsr 74t 7 spa 722 75t g7

A) Kosi / #THT

B) Gandak / ig=

C) Subansiri / gaafaLT
D) Ghaghra / =meeT

16) Who was the last King of Mauryan Empire? / 5T STHTST &7 sifae w157 #1477

A) Chandragupta Maurya / 57"
B) Bindusara / fag=me
C) Brihadratha / agz9

D) Pushyaiitra Sunga / T = 7

17) In which of the following areas the Government of India and the World Bank have signed a $650 million agreement
towards the third loan for the Eastern Dedicated Freight Corridor? / fF&rifa & & fe &1 & a7ea e 7497 57 o 3 =e2d
=R%eE thEe FREE F dav 7o F O $650 ffera F ety o7 g=ame fm 27

A) Airways / TS
" B) Railways / 73
C) Pipelines / arsaemeT
D) Roadways / TTed=
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18) When did Indian Constitution came into effect? / ATET dfFaT Fa =77 gar 417?

A) 15-01-1950
B) 26-01-1950
C) 15-08-1950
D) 26-08-1950

19) Law inconsistent with directive principles of State policy is void unless it received the assent of / Tr=a1 & Hifa Ao
Rrgiat & arer 9w F, T8 & Rt geaf are B S aw Forare 3§ | '

A) Parliament/ﬂ'ﬂ'q'

B) President / Trgafa

C) State Legislature / T fEremeraT
D) Supreme Court / 3gd# =TT

20) What is the term of office of the President of India? / ST 3 T2 T w1 AT 27

A) 4 years [ 4 99
B) 6 years / 599
C)7 years /7 a9
D) 6 years / 6 a9
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Section 2 - Part B ‘

‘i No. of Questions: 2C

21) In what way can the terms of given set be divided into two .sets so that the terms in two sets have same LCM: (12, 10, 25,

30, 20, 300)? / T&w 71 & Ry 10 wopgr Wt w1 21 wagat 7 At f s awar 2, arhn 2 aagw i F 02 w1 A AL 7 8
(12, 10, 25, 30, 20, 300)?

A) (25, 20, 300) and (30, 10, 12) / (25, 20, 300) 3% (30, 10, 12)

B) (25, 20, 12) and (30, 10, 300) / (25, 20, 12) 3= (30, 10, 300)

C) (25, 300, 12) and (30, 10, 20) / (25, 300, 12) &7 (30, 10, 20)
(

D) (25, 20, 10) and (30, 12, 300) / (25, 20, 10) &% (30, 12, 300)

22) There are three words given here. The first two words are related in a certain manner. Select the proper word among the

given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Cricket : M.S.Dhoni :; Badminton :

[ Tgt T i orex Bo oy #) B &7 9Ts5 U AR 9T & wafae 2 %Wwwﬁﬁwﬁymmm?ﬁ,ﬁﬁﬂgmﬁ
& 1 et T 8, ST e o g 9% e T A

e Tr.uE. T - asfieT

A) P.V. Sindhu / ¥, 9T, fifeg
B) Sakshi Malik / ==t wfers
C) Sania Mirza / =rfa= first
D) Sushil Kumar / #¢fr FT%
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23) Given are two views of a dice. What should come in place of the question mark? / 9T (3T2®) ¥ 37 3¢7 faw 7w 51 vy e
F TATT TT AT AT AT ?

ﬁ K g "
A) Five dots / 7= fdfg
B) One dot / u= fag

C) Six dots / Bg fdg
D) Three dots / 1= fag

- B . -

24) LCM of two numbers is 80, their ratio is 2:4, then the difference of two numbers is / 21 FEATE EIERGET Wﬁﬂﬁr 80 g sfiT
TR ST 2:4 &, A ST HeATelt T R S |

A) 120

B) 80

C) 20

D) 40

S = P

25) Find the number that is similar to the number 895 in a certain manner. / I9 T=aT T G5 ST TF (2T T0%F & T&aT 895 %
A &l

A) 1155
B) 2151
C) 811
D) 101

Page70of33




Set Id : 31558 3 9-12-2016 — Batch2 — Group6 For: Rajya Sabha Secretariat, Parliament of India

right half of the image in the left pattern? / a72 @Wﬂ?ﬂﬁ%ﬁmﬂmﬁ?é}rﬁél AT 3 o qame % =18 & i By
ﬂ?ﬁﬁﬁ%a@aﬁmww&méwmmﬁmwwg?

= - r B

A) Both 1 and 2/ 1 3T 2 3=}
B) 3
C)2
D) 1

27) In the given sequence, one of the terms is different from others. Select that term. (32, 48, 72, 107, 162
TE & U 81 39 v T e ay (32,48, 72, 107, 162)

)/ 8w T e
A) 48
B) 107

)72
D) 162

28) The length & height of a room are 10m and 8m respectively. The breadth of the room is 6m. What is the cost of painting

the walls of the room which has no doors or windows at the rate of Rs.100 per $q. metre? / TF FHL Y FTTE 2T AT Fwyor:

10ﬁﬁ?8ﬁénmﬁﬂa€6ﬁél 1003?ﬁaﬁﬁwaﬁawﬁmmaﬂﬂ%@ﬁmﬁrwm%ﬁﬁwﬁﬁﬁ‘fﬁmﬁ
AT 47 87

A) Rs. 18900 / 18900 &
B) Rs. 24400 / 24400 %
C) Rs. 25600 / 25600 &
D) Rs. 15000 / 15000 %
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29) The paper sheet given below is folded along the given dotted line(s) in the sequence as mentioned. First fold is made
along the dotted line 1, then along the dotted line 2. How many edges would the resultant paper sheet have, after the folds? /
- fru g o ey Saite apre -3 Re s Reged- Fi @@ F amias TET sat g1 Tgar Jie Aegsi 1 W@ 1 F auwiag
P ST &, AT faregelt 1 T 2 % w0 ¥ are oot 3 ofie # fr R g

A) 8
B) 5
C) 6
D) 7

30) In a row of 50 students, Manish's position is fourth from the left end. Find his 'pbsition from the right end. / 50 fer=mfeaT $i
e R , A AT e aTE A A f) ArE A A gEwT A A

A) 43rd /43 3t

B) 46 th /46 gt

C) 47th /474t

D) 42 nd / 42 at

Page9of33




Set Id : 31558 3 9-12-2016 ~ Batch2 — Group6

For: Rajya Sabha Secretariat, Parliament of India

‘Following are the conditions for selecting assistant-engineer in a
Software Firm. The candidate must:
(i) be a graduate in mechanical engineering with atleast 70%
marks.

(ii) be a post-graduate with 75% marks.

:(iii) have a work experience of 3 years post qualification.

- (iv) have secured atleast 80% in the selection interview.

;In the case of a candidate who satisfies al| the conditions:

(A) EXCEPT (i) above, but has work experience of 5 years after
post-graduation, then the case may be referred to General
Manager.

;(B) EXCEPT (ii) above, but has experience of 7 years or more
after post-graduation, then the case may be referred to Vice-
‘President.

'(C) EXCEPT (iv) above, but has more than 90% in Class X, then
the case may be referred to President.

‘Based on the above information and criteria given in each of the
‘following questions, you have to take decision. These cases are
given fo you as on 1st November, 2016,

e ord &1 sefrear #r:

(1) F5 & %7 70% o= ¥ wqa Forfiaer ST i m
IS FAT TR

(il) 75% mwm«rwfﬁ#wﬁmmﬁm

(iif) Eﬂﬁﬁﬁﬁsﬂ%zﬂ?sm—rﬂmwﬁmmﬁm

() TTHITT ST H F A FT 80% FIEEREE T |
:WU?F_EﬁEHTTqiﬁQIﬂTEFTTTW? '
(A A) T S92 (i) &, Afa T 3 a1 5 arer oy
mw%‘a‘rmwww&tﬁaﬁwmm

B)fﬁaw@mﬁ?ﬁ(ii)%,%ﬁﬁqﬁw-ﬁqwm%ﬁm?m?ﬂ#

;'WWWWW%#T,WWWH%’Wml
(C) T YT (iv) %, wifebet =ereft sy 3 Q0% 3 arfirs 2
AT, HTHAT &% F7 CEE

(SR ST @i A R e w3 Ry o vt

F AT T AT Foroby St 20 | T EHT HIHA 1T AHaT

1, 2016 F & 77 2w 7 2

31) Rajeev Kadam secured 67% marks in mechanical engineering and 96% in post graduation. He has work experience of 5
years after post graduation and has secured 84% marks in selection interview. He should be :

/mﬂawwﬁﬁﬁmﬁﬁaﬁwﬁsmmaﬁvwmsm#%%mﬁ%@ W-WW%WMWSWH

FTATHA § AT I ForForT avoy & 84% 3 3 griae B 8 33y

A) referred to the General Manager. / HRTIAL o T &7 ST AR

B) referred to the Vice-President / Suremsr ¥ qror ST AT =R
C) selected / =7+ AT ATRT
D) referred to the President / @rearer % qrer 7 577y L
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32) Among Ramesh, Dev, Krish, Mahesh and Rohan, who is the tallest? Krish is taller than Rohan only. Mahesh is taller than
Dev and Ramesh. If they are arranged in ascending order of their heights from left to right, Dev is second from the right. /
T, o, i, WOl g v SR SeT 7 o et SIge o S g W & i< THer & ot g1 A & el SAE § A F 4w
AT e 0 SHafead gid §, 7 &9 370 ¥ g9 €7 I g gl

A) Mahesh / wger
B) Dev /&=

C) Krish / F

D) Rohan / Tgd

33) A cube of side length 6 units is taken. On all its faces, Red paint is done. Now, it is cut into identical small cubes of side
length 2 units by cutting it along its length, width and height. Based on this information, answer the questions that follow.
How many small cubes of side length 2 units will be formed?/ :

Gqﬁzﬁmﬁaﬁwwﬁﬁmmmﬁ da%-qﬁwmﬁaﬁﬁrﬁi‘mm% o TH ST AATE, ASTE AT FATE F AL
FIET g 2 T o7 aTs o1l TUET BIc T & FET STAT | T8 AT F e 7%, = &y 7wt % 392 3

2 fve ot SarE a1t e gre a7 s gl

A) 8

B) 27

C) 49

D) 36
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Following are the eligibility criteria for applying for the post of Junior & § F 8 AF ¥ 72 ¥ B =T w0 o o
Officer in a bank. ATEE Fir R )

{h-TFhe-candidate should be a graduate with atleast 60% aggregate 5 - -
» z ’ (1) SEHYATE F1 & F77 60% Fo0 o F AT A ST

e

(ii) The candidate should have atleast 0% marks in graduation if he . e 2 I
() g g (ii)aﬁﬁwwqmss%aﬁmmqwa

a‘rmmﬁw—éﬁﬁmﬁww%ﬁﬂﬁll

marks.

is a post graduate with atleast 65%

:(iii The candidate should have atleast 50% marks in graduation and

:(iii)zr%d—uﬁaawﬁra“mﬁq?rfévﬂ(Ph.D)m#?r%,a%
HTTF 7 H I 3% F9 F 57 50% A AT =T 7
T H FH 60% BT AR

atleast 60% marks in post graduation if he holds a doctoral degree (
Ph.D)

(iv)The candldate should have atleast 60% in graduation if he has

(iv) 7% AT w7 % ave, s % o w4 !

atleast 4 year experience after post graduation. i N . w5 . .
P g E&Wmagw%,mmwrrmwwqm

' _ 60% B =R

(v)The candidate should have atleast 55% marks in graduation if he |

has atleast 9 year work experience after graduation, (v) 7% #1F =7 F a1, 30fiEa ¥ o Fn faw g EL)
FTHF T 2, AT | T W TTE o 57 F 51 55,

: ?The candidate will be eligible, if any one of the criteria is satisfied.

Accordlng to the details of the candidate, he/she may be eligible TTH T A off e ATTSE A% 2 2 8 3uflea ursy
under one or more of the criteria given above. AT IFfEETT F IEEEUIET ITATE, 7 T faw o T AT
AT A0S ¥ Sl o 2 H 2

Read the following information given below and find out which of the 1% &t TE SITFTE TF 27 57 B # ar HIes
crltena the candidate belongs to? FEEATT & THFE et AT o

34) Candidate's information: John is a post graduate from Pune with 75% marks and a graduate with 80% marks. He has
been working in Chennai since 15 years after his post graduation.

| SETEETT 3 ST S ¥ oy 759 ST AT FTARIT A 80% 3 T T A HAE TR AT A F A 15 at i
g AL H T F 7T B

A) All / Tt

B) All except (iii) / (iii) #T Zrzsc Ry Tt

C) Only (iii) / Fa= (iii)

D) He is not eligible at all / 77 freger mrr 7y &
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35) Introducing Rupa, Meena said, "She is the only daughter of my father's only daughter.” How is Meena related to Rupa? /

FIT T =T &9 g0 {7 7 Fgr, "ag T fOar ¥ sahelreft 38 i sFwirar de 81" Hiar w1 &7 8 F=2471 Rear g2

A) Niece / |Tst
B) Aunt / =TT
C) Mother / 5T
D) Sister / aga

that is different. / T & (31, 17, 19, 37, 43) faam am 21 Rrepew § R 1w Fzw & & wor 1 wigee arhy @it v e a0% & s
2| firer ¥ =9 4 A |

A) (41, 31, 23, 13)

B) (11, 19, 27, 37)

C) (19, 29, 53, 61)
) (

D) (3,7, 11, 17)

37) Sakshi introduces a boy as the son of the brother of her mother. How is the boy's father related to Sakshi? / qTAT UF AER
T TR AT /T F 978 o o F €9 § It 21 397 orgeh 1 e aweft & F97 Rear w@ar g?

A) Grandfather / gTeT

B) Uncle / 58T

C) Brother / sIT$
D) Cousin / THIT 9IS

38) Find the next term in the sequence: 44, 80, 116, 152, . | FH | AT g&AT 719 F 44, 80, 116, 152,

A) 196
B) 180
C) 188
D) 192
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39) In a certain code, DFCNEV is coded as HCFGJK. What will be the code of the word CPEREL? / s A2 %= # DFCNEV
FT HCFGJK F 9§ Fz 7 BT A7a7 21 9orew CPEREL FT B FAT GITT?

A) FIJJFH
B) FHJIJF
C) FJIHFE
D) FHIHFJ

40) In what way can this set be classified into two different sets: (34,57, 23,78, 12, 29)7 | g a5 ¥ = T T ar e
ﬁﬁWﬁTﬂTWW% (34, 57, 23, 78, 12, 29)?

A) (23,34, 78) and (12, 29, 57) / (23, 34, 78) ¥ (12, 29, 57)
B) (12, 34, 78) and (23, 29, 57) / (12, 34, 78) 3iv (23, 29, 57)
C) (12, 29, 78) and (23, 34, 57) / (12, 29, 78) 4 (23, 34, 57)
D) (12, 34, 29) and (23, 78, 57) / (12, 34, 29) s (23, 78, 57)
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Section 3 - Part C

o4 No. of Questions: 1C

41) The number of members of a club increases every year by 10%. If the number of members be 400 in the first year, what
will it be in the third year? / U% e F Taed| 1 §&4T g€ 9T 10% & F&dt gl zﬂ%qgi—‘r mwwﬁw%o%m e arer
g faraeT g1 sma?

A) 496

B) 630

C) 484

D) 532

42) Mr. Arora deposited in a bank Rs. 25,000 for 6 monfhs at the rate of 8% interest per annum, compdunded quarterly. The
amount he received after 6 months is / sﬂi’rmﬁrt{?ﬁﬁ?ﬁ‘ﬁﬂﬁaﬁﬁf{qﬁﬁﬁs% mﬁﬁqﬁnﬁﬁmﬁv ¥ 25,000 ST
1 6 7E 978 Ive AT Wi STE gaT 82

A) Rs. 26,010 /Z 26,010
B) Rs. 25,500/ Z. 25,500
C) Rs. 26,000/ ¥ 26,000
D) Rs. 26,500/ 26,500

43) The average of the natural numbers from 1 to 31 is / 1 @r 31 ﬁ#m m&rra?r T 8ﬂ?l‘c1’ %

A) 15.5
B) 16
C) 31
D) 12
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44) Two trains of lengths in a ratio of 3 : 2 are running on parallel lines in the same direction at a speed of 48 km/hr and 60

km/hr respectively. The faster train completely overtakes the slower train in 1 minute. The length of the faster train is / &7 3

£ 2 0 ST T A TR FHen: 48 Freidtey/er i 60 Frerreftee/eie i 1 & v & e & qami avewt 0 w7 w5 ) iy
YT 1 fe 3 gt v & et YTt i e ey 1 e Yo A s 2 '
A) 120 metres / 120 et

B) 100 metres / 100 Hex

C) 200 metres / 200 =z

D) 80 metres / 80 Hizx

45) The lengths of two sides of a triangle are 5 cm and 12 cm. What is the possible maximum area of the triangle? / T
BT & A1 et f = 5 e g 12 Hfeedter € FEreRTor o =i srfera derer = 22

A) 60 sg.cm / 60 777 Hferfizr

B) 30 sg.cm / 30 = #f2efiee

C) Can't be determined / fReif ¢t B s a2

D) 36v3 sg.cm / 36+3 7 Ffeftex

46) A man who deposited Rs. 9,000 got Rs. 750 as interest at the end of one year. The rate of interest per annum was /

9,000mwmﬁmﬁwwﬁﬁﬁww%aﬁﬁm%wﬁ 750 = Ao wfded s 2w a,
A) 8%

B) 7.5%

C) 6%

D) 8%%

47) If 2.5 is decreased from twice of a number, then it becomes equal to the same number increased by 3.2. The number is /

T2 T AT % g & 2.5 F R st £ 4, A 39 ey £ 3.0 H 91 % FRTaT &7 ST 81 7T T
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48) The maximum number of points of intersection of 8 straight lines is / 8 et Y@Tell % Wii=sae % fHgel FT afdFay "= 8,

A) 24
B) 28
C) 12
D) 56

49) In a group of boys, two boys are brothers and in this group 6 more boys are there. “In how many ways can they sit if the
brothers are NOT to sit adjacent to each other’? / @rsFt ¥ TF TE § &1 =% WTE & o< 30 g ¥ 6 o< 7= &1 “orT A=y 77
T GHL o HTee 7 ST ST a1, F e Tl 7 55 T 82

A) 28

B) 15120
C) 1440
D) 30240

...... i

50) If (X + Y)/(X - 2Y) = 13/8, then the ratio of X to Y is / Ff& (X + Y)/(X - 2Y) = 13/8 a1, X & Y T AU &,

A)34:5

)
B) 5:34
C)5:14
D)17:5
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Section 4 - Part D

‘i No. of Questions: 1(

51) Identify the antonym of the underlined word:
The hotel had delectable decor and an outdoor pool.

A) delightful
B) éxpensive
C) unpleasant

D) charming

52) Fill in the blanks with correct option: In the equatorial regions it rains
A) in

the year.

B) throughout
C) for

D) during

53) Identify the error in the following sentence. The error, if any, will be in one part of the sentence, the number of that part is

your answer. If there is no error, mark your answer as (D). (A)They frequently hold / (B) conferences at / (C) those hotel. / (D)
No Error. -

54) Fill in the blanks with the correct form of verb:

We were greatly by the positive response of the public.
A) encouraged

B) has encouraged

C) encourage

D) encourages
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55) Fill in the blanks with the correct option:

Today worlds environment, ecology and balance of nature are a part of the vocabulory of both the laity and scholars.
A) an

B) No article required. '

C) The

D) a

56) Fill in the blanks with the correct option:

I her in the courtyard.

A) seen
B) seeing
C) sees

D) saw

57) Choose the word that is spelt correctly and fill the blank.:
Please give me a of cake.

A) piice

B) peace
C) peice
)

D) piece

58) Choose the correct rﬁeaning of the phrase / idiom undérlined in the sentence:
The Speaker urged the Committee to take drastic action but they hung fire.

A) hesitated

B) argued

C) assumed

D) complied

59) Choose the Noun in the given sentence: | left a message on her voicemail.
A) on '

B) left

C) message

D) a
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60) Identify the correct synonym: Beatific

A) Common

B) Serene

C) Special
D) Crude
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Section 5 - Part E

No. of Questions: 1(

61) gae ~ers FT TATTATHT arew forfRT

A) AT
B) ST
C) T
D) sifirRT

62) "SFT" HFT" T IO FT AL o IO FATT |
A) I ST HEEAT ¥ T T

B) HAT ST HLAAT § kel AT

C) FaT ST 1

D) T ST T

63) ALE o8 SITET AT HIST?

A) FTaT-far
B) €¥y-FTH
C) T=-farsy
D) TEFT-ASH

64) T &A% ¢ a1l -ng,:g'w%ﬁtﬁﬁﬁﬁgﬁmﬁﬁu

A) TFT% 98 TEdT 8
B) g JedT T &l
C) & T& TaT &
D) e 7 TE &
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65) 9@ FAAT HT TEAAT?

A) =fgear AT
B) argifre ATt
C) wfg=T amdt
D) f&=aY srsyrefy

66) "ATHET R m i w v et e ¥ aes A A B w8 AT e 27

1

2 &

@

L2 PLS
_ﬂ)

67) ‘TR T Tt T AT & 1 AT # e TS & AT A 2 —

A) goft
B) =
C) #AfarTme

D) q=
68) =& o= F°T A= T 27

A) =57
B) =rer
© C) T
D) &fter
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Sg)ﬂﬁﬁﬁﬂsﬂ?ﬁxﬂfﬁﬁw

i a- ﬁ?@ﬂwﬁa@rﬂrﬁm |
2-3—‘r¢ra—‘ra—‘r¥rﬁ”@'ﬁﬁ%l | b H‘rﬁ’r@mfrﬁ‘rwmgl i
3- wﬁmmﬁw k mﬁwaﬁwmm%wil ‘e
l4 TR § {TT AT d mﬁ%%-@a@wﬁ,ﬂ%‘ §

A) 1-d,2-c,3-b.4-a
B) 1-c,2-d,3-a,4-b
C) 1-a,2-b,3-¢c,4-d
D) 1-c, 2-d, 3-b,4-a

70) T AT BT AT Y AT R o I ﬁﬁwwﬁﬂmwﬁmwmwﬁ-

A) TAT T HATE

B) afe f&rer st
C) #T-20T Hepare
D) = ¥ faw s
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Section 6 - Part F

‘e No. of Questions: 3(

71) If the engine oil colour changes to black then / 3T Z5T7 3 et T 17 FTer 107 § agerar & aT,

A) it should be changed / 3% T AR

B) it should work for one more year / a8 e ¥ |1e # 570 1w AT FTRT
C) drain half of the oil and add fresh oil / & ¥ amer T8 i1 Hiswrerene a1 de7 W
D) it should remain unchanged / 3% wraf¥afda wgaT =120

72) What is the function of the clutch in an automobile? / T FET-TTET # 31 F1 14 F4T 872

A)

Clutch helps to control the fuel consumption more effectively / F= Afar= saTaenaT =7 & So ¥ maq #1 =BT 777 &

Clutch is used to engage and disengage the power transmission system / @7, oTsfar =707 &5 FT HTH T2 AT 4T

Clutch helps to increase the speed of the vehicle as required / FT= STFYT=HaT ATATT ATRT 6 13 F1 T2 § 737 FAT &

Clutch helps to put the brake more effectively / F=, 3% F1 AT TaTI9T =7 & 770 # 722 FAT H

73) Which document is additionally required for renewal of commercial driving license? / arfirfs== s AT F AHRL0T F
ForT e w1 TS AR = & s 27 :

A)
B)
C)
D)

Original Driving license / =@ sarafa &7 g7 of3
Attested copies of Valid Proof of age and residence / =1 == = 7 Jer swror 7 srqoramforg gfa
Medical Certificate in form No.1A / =1 1A & T7ese qoToTT

Application in Form No.9 / I 9 & #reree
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74) Based on which of the following conditions should engine oil be changed? / 3517 o &7 TRaqq A& Fafaai § & g o=
et greT = 1Rn?

A)  Engine running time only / 9 S5 %7 F1aTa1d

B)  Engine running time, kilometers travelled and coolant temperature / S5 & FTaTater, A= T ga fheriet 8T
IEEERREIG] ;

C)  Coolant temperature only / Faer sfiaer qroaT
D)  Kilometers travelled only / &=t = fFam gem et

75) The component parts of a vehicle are attached to a structure termed as / T STgH FT FHIFTTAwE TTE UH TLAAT 7 (2 B8 &,
I HLAAT T T FHgT AT 572

A) Chassis / =&t

B) Seat/ ¥z

C) Engine / E=1

D) Body shell / si1f2 &=

76) Which of the following tools is recommended for breaking glass in a trapped vehicle? / % & & Fi a7 37T UF He
ATEA ¥ Fd a1 % forg FereRrieer #7 St 872 '

A) Spanner set / T899 ¥
B) Plunger / ==t

C) Life hammer / ®TE% &9¢
D) Screw jack / & S

77) Which limit is shown in the image? / B ¥ i & T Rers 75 §2

A) Weight limit / s ST
B) Height limit / S=Ts daT
C) Length limit / f3eaTe dar
D) Speed limit / 7 =T
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78) Use of higher gear in cars while driving / gr=f&T &7 aw ®12f & 37 =7 &7 37907

A) has no effect on fuel economy / S8 SHRITHT T% FIE TATT Ag1 STAAT 5
B) decreases fuel efficiency / S8 &1aT 1 H2TAT & o
C) improves fuel efficiency / S&F Z&TdT &1 IeFE aTT &

D) decreases the fuel economy / 9 THIFTHT T T2TAT &

79) In the image, which signal is shown by the driver? / == & =T G121 i AT Fha 3@ 797 87

A) Intend to turn left / a7 aiT {2 T TTET

B) Intent to slow down / THATE 9 FTA FT SLET
C) Intent to stop / T FT ST

D) Intend to turn right / &€ 3T g2 FT 32T

80) The battery terminals are coated with paraffin / = == =7 T3 7 747 =fa &7 Fma7 872

A) to prevent corrosion / ST T T % oI

B) for exposing the insulation / SR FT TS F7eT & o117
C) for better conductivity / Sga¥ FTerAT & forw .

D) to prevent battery leakage / &= fama i1 T & 0

81) While leaving a vehicle unattended, keys / 5ta U= aTge T faAT T@aTer F Fred & e =10

A)  can be kept in glove box / SEATAT ST & T=T T AT &

B)  should be removed from ignition and vehicle can be kept unlocked / =RrerT # ZZTAT AR 37 ATEA FI GeAT 78T ST THaT

Al

C)  should be left in the vehicle / g # ST sTf2U

D)  should be removed from ignition and vehicle should be locked / =firor & gzmT =TfRT v aTET 52 T T =A1RT
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82) In case of emergency braking, care should be taken to / STHTSTE S & &7 Fafa § F47 e919 & TaAT A1fgu?

A) _avoid hitting the vehicle in front of you / &9 3 JTH F qTae & ZFr ¥ =41

B) take the vehicle to the side of the road / =g #T T F fFATL & ST

C) avoid swerving the vehicle / ST T ST & HTLIT T2 o A

D) remain in the driving lane / STEfET o & g1

83) While checking the tyre pressure using a tyre pressure gauge, if the tyre pressure is higher than specified pressure, then
| U T AT AT & A1 1 STANT F< ETAL ST T S o 9T 7 AT a9 AEE game $it g & srfer arar siar g v,

A) add air by pressing on the valve core / STed 1 F §aT FZ AT 7L
B) remove air by pressing on valve core / 7o 1T T 6T < gaT FeTat
C) screw the valve cap back on / STed &Y JT9q T &

D) just unscrew the valve cap / 578 9Ted 7 T &

84) While driving a four wheeled vehicle if the tyres blowout / T# T2 Tf2T STeA HT e FTd &§HT ST L Fe STl & o,

A) slow down the vehicle and drive straight / FTee T THITR 7 F¢ 3T 18 5759 7%
B) take the vehicle to the side of the road / g &I @ F AT TL & A4
C) accelerate the vehicle and drive straight / FTg =T T ®L AT T8 2T FL

D) turn towards the side of tyre blowout / T3¢ %e ft s g2

85) How is the fuel burnt in an engine of an automobile? / T TET-TTET & 5 § S4F HF STeTaT SITaT 87

A) It is burnt by using a spark plug in petrol engine and by injecting fuel in a hot chamber in diesel engine / S¥ T2Te $517
H UF T ST T STANT FF STATAT ST & T STt So1d H U T Fiel § 4T 9T FL

B)  Itis burnt by using a lighted match or candle / ¥ T SeRTIAIT T T HIHET T STAN FLH STATIT ST §

C) Itis burnt by using a spark plug in diesel engine and by injecting fuel in a hot chamber in petrol engine / Z# e 5
¥ e T T R T HF ST ST 8 ST T2l Eo7 | U T Fi67 § 26 9 FL

D)  ltis burnt by blowing hot gases into the engine / & S5i® & T 9 &7 e WL AATAT 14T 8
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86) Cautionary traffic signals are normally shown in / SaTawT ITATITA e HTHTAT: FIF & AR H =B S0 872

A) Circle / 91
B) Triangle / Fresr
C) Square / FTHT

D) Hexagon / TZ1oT

87) What would be the effect of the occurrence of excess camber in an automobile? / T& TRT-TTET H F&LT T FITET a7 I
ST FT AHT T BT HFaAT 87

A) Itincreases the steering control of the vehicle / 75 aTgA % T AT RF=0r i F7T 3T §
B) Tyre wear on the side directly beneath the load / 9% & &= == #I si¥ =< o srar &
C) Tyres have better contact with the road / T3 T=F ¥ @ Fga? H9% § 78aT &

D) Brakes of the vehicles become loose / AT FT % &1eT gT SATAT &

88) A vehicle having cooking facility is known as / BTAT T T FEET FTT UF AT F4T FgaTdl &7

A) Sedan / frg=

B) Ambulance / TEFE
C) Caravan / 737

D) Hatchback / &=

89) Checking of coolant level should be done / sfiaer =% fi St =z F 7T =ATRU?

A) when the vehicle is on a level ground / & AT T&H HEAH H TT BAT &

B) before starting the engine when it's still cold / £5I7 [ F3+ ¥ Ug+ 9 9 3T 2AT &

C) when the vehicle is on a steep ground level / 5@ aTga T HTelT 19 ¥ A7 T gAT &
D) after starting the engine when it gets warmed up / =57 1% F7+ % AT8 79 g TH & 51T &

90) "Driving against Police Signal” is related to which type of offence? / "Ifere ffrwrer  fems grsf@T” @& e % aroare
AT 87 :

A) Horn Related / BT+ (9TT) @ wafaa
B) Traffic Police Related / TaTaTea Tfere # e fed
C) Speed Related / fd & #afera

D) Traffic Signal Related / FaTaTa e o Hafaa
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91) Which of the following offences calls for imprisonment? / Rerferfam srawret & & T 97 FTETE HT 7T FGT 572

A) Playing music while driving / ST=fE % S8 @90 =TT
B) Disobeying lawful direction / e f&erm &t sragermr

C) Driving under influence of alcohol or drug / er<rer o7 Fefieft a=reii F wara & grefdT FT

D) Leaving vehicle in unsafe position / aTgw Fir FrgLiera Rafa & Grear

92) While crossing a stopped car, precaution should be taken because / T @ g% F1T &7 ITX FiXd 80T TgfaaTd T =TT

ERIIED

A) the car may start moving / T F&AT F FX FHFAT &

B) the car may start moving in reverse / X STaT FEAT 0F ¥ TFdT §

C) the car doors may open suddenly / FTT & FTATS ST & GeT T &

D) another car may hit it / T &7 FTT 3TY T THAT &

93) The sign in the image indicates: / == # @& 47 =fa Far 27

A) Entry of Bicycles allowed / ®Tgfeet % oo 7 srgafa §

B) No bicycles allowed / aTsfe ¥ s3er ¥ srqafar 78t &

C) Entry of motorcycles allowed / WraxamsfaeT ¥ waer £t srqufa &

D) Parking of motorcycles allowed / Frezamzierett Tt it erqafa §

94) The sign in the image indicates: / == & Ta 47 it F2ar g2

A) Over taking prohibited / dre = Ffig &

B) Turn left / a0 &
C) No entry / w=er fRerer
D) One way / a7 &
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95) An informational sign with "P" written and an arrow mark on either side denotes / T =T Hha foreH 7 "P" formaT grar 2

A) Auto parking / =iTZT TTfET
B) Taxi parking / #=T aTfeaT

C) Roads on both sides / T ¥ 5% ¢

D) Parking on both sides / T =T ZIAT AT ST 2T e

96) The sign in the image indicates: / == # @ 7 =T F7a1 22

A) Right turn prohibited / 2% ST g7 fAfg
B) No entry / warer e

C) Allow entry/ s3er Y ZTad &

D) Stop / =f&

97) At a junction with yellow marking on the road, one should / == # T e AT T ST TT AT

A)  stop only inside the marking / e FREATsH ¥ =T LT TFAT FATRT
B)  never stop inside the marking / =T 287 TTET F#T Al TrwAT ATRT

C)  stop for a brief period inside the marking and then move on / 3#T @&Ter & =7 REATeT & d5T TET 7% 7 [T ey

D)  not touch the outer line of the marking / TE=ATHT F AT ATSH &l AT T2l ATRT

98) While changing lanes from left to right, the driver should / aT0 # 270 &7 Taed THT ITAF HI

A)  turn on, the left signal and take a hard right turn / aTIT T =Te] T2 T T2 0 2T T0F HSAT AT
B)  turn on the right signal and smoothly steer right / ZTT TR 3T F7F aTe i & FTEA AT FAET ATERT
C)  turn on the right signal and take a hard right turn / =TT & =T F73 T a2z & arff 77 =fRw

D) turn on the left signal and smoothly steer right / =TT Iﬁm%ﬂ?{ﬁﬁ“}" AT TS F FRA A =TT FATR0
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99) Which of the following items is NOT operated electrically in a vehicle? / T arga # fAeferfem srseat & 8 fiwar g &
i 78t &2

A) Heaters / zX

B) Central locking / e AT

C) Windscreen wipers / fdeefi argux
D) Seatbelt / Hiz a5z

100) Which signal is. shown here by traffic policeman? / gt ATITITe Tiera=Te G 19 A7 Hh fa@ma 7w g7

A) To stop vehicles from all sides / & 6 & s T a7t S TFAT

B) To stop vehicles from behind / 92 & a7 T aTgAT F1 AT

C) To stop vehicles from front and behind / FTae iz €12 & =T T mg?ﬁ F AFAT
D) To stop vehicles from left and right / aTE &t 2T i< & &1 T2 aTeAT & T

Page310f33




Set Id : 31558 3

9-12-2016 — Batch2 — Group6

For: Rajya Sabha Secretariat, Parliament of India

20. B
21. B
22. A
23. B

24. D

25.

26.

28.
29.
30.

31
32
33

34.

36.
37
38.
39
40,
n
4.
43,
44,
45,
46.
47.

48.

Question Paper No:

Answer Key

31558 3

49.

51.

N
9]

53.

54.

92:

56.

57.

58.

59.

60.

6l.

62.

63.

64.

65.

66.

67.

68.

69.

GAiE

71.

72.

Page320f33




Set Id : 31558_3 9-12-2016 — Batch2 — Group6 For: Rajya Sabha Secretariat, Parliament of India

T3, € 83. B 93. A
74. B 84. A 94. D
75. A 85. A | 95. D
76. C 86. B 96. B'
77. D 87. B 97. B
78. C 88. C : 98. B
79. B 89. B ' 99. D
80. A " 90. B 100. D

81D 91. C
82. A _ 92. C

Page330f33







